1) A sample of drmkmg water was found to be
severely contaminated with chloroform, CHCI
~supposed to be carcmogemc In nature. The level
of contamination was 15 ppm (by mass).

(i) Express this in percent by mass.
(11) Determine the moﬁahty of chloroform in the water
~ sample. f

(@) 15 ppm_ means 15 parts 111 m11110n (106) parts
| 15

%mass—-—l-a—-xloo = 15 X 10—4 =15 xlo—a% '
'(11) Molar mass of chloroform (M )“" 118 5 gmol"“1
100 g of the -sample contain |
| =15 ><10‘3g chloroform .
1000 g of the sample contain-
- =1.5x10% chloroform o
-2 ‘
Mol ty__W xlOOO _ 1.5x10 x1000 _ | 266 5 10_4
T M xW, 1185><1000 NS




2. Calculate the molarity of a solution of ethanol in water,
in which the mole fraction of ethanol is 0.040

(assume the density of water to be one)

Meles of ethanel = 0.04 me)
Moles of water = 1 - 0.04 = 0.96 mel

Mess of welter = 0.96 * 18 = 17.8g
Mess of ethanel = 0,04 * 46 = 1.84g

Mess eff selution = 17.8 + 184 = 1€iig
Let denstty of selution be dg/ml

Velume eff selutiion = meass/density = 1O/
= 18ml = 0.01eL

Melertty = 0.04/0.01e = 2iM



